SAMPLE QUESTION
Subject :Accountancy(ACCT)
Class-XIll
Full Marks - 90
Time allowed :- 3.15 hours
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Liabilities Amount Assets Amount
CapitalAccounts. 3 Factory Shed E4 2,25,000
Aman- 200000 plant & Machinery 1,75,000
Bishal- 150000 Motor van- 40000
Chitra- 125000 | 475 oo | StOCK 1,25,000
Reserve Fund 60,000 Debtors- . 80000
Sundry Creditors o500 | Less-Provision- | 2500 77,500
Bills Payable 25000
Bank- 12,500
6,55.000 6,55,000
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Liabilities Amount Assets Amount
CapitalAccounts. < Machinecy
Mohan- 300000 Furniture 2,60,000
Manju- 200000 Stock 1,80,000
Reserve Fund 5,00,000 Debtors 1,00,000

40,000 Bank

Bank loan an 88,000

) 1,20,000 60.000
Creditors 20,000 ,

6.80,000 6,80,000
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Part-B
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2013 2014
Gross Sale 1,20,200 1,35,800
Sale Return 20,200 5,800
Cost of goods sold 80,000 84,000
Operating Expenses 12,000 9000
IncomeTax 50% 50%

x9) Agartala Power Ltds 31.3.2015sif04 Triéi@ frimg ¢
l. Equities and Liabilities : 31.3.2014 31.3.2015
A. Shareholdés Fund 3 3
Equity share capital- 150000 200000
12% Pref. share capital 75000 50000
B. Reserve & Surplus:
General Reserve- 20,000 35000
Profit & lossA/C 15000 24000
C. Current liabilities
Creditors 37500 49500
2,97,500 3.58,500
Il. Assets . Ed Ed
(a) FixedAssets :
Goodwiill- 36,000 20,000
Building- 80,000 60,000
Plant- 40,000 1,00,000
(b) CurrenAssets :
Debtors- 1,19,000 1,54,000
Stock- 10,000 15,000
Cash- 12,500 9,500
2,97,500 3,58,500

THTRANE S (ATF 79 &A1 R3] 29S|
38) Fortune Ltda 31.3.201 4707 11 239 Ta6 i@ (Madl 20eTs
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Liabilities Amount Assets Amount
<

Eaquity share capital 8,00,005
Capital Reserve 1,60,000 Goodwill 4,80,000
129% Mortgage Loan | 4 00 000 FixedAssets 11,20,000
Sundry Creditors 3.20.000 Stock 2,40,000
Bank Overdraft 80,000 Investment (Short term 80,000

Provision foiTaxation | 1 60.000 Cash 2,40,000
Profit &lossA/C 2 40,000

21,60,000 21,60,000

TATAT TFo71q (AT oA Soiesjfer fefa a4 |
(hoefesrAre (i) o orgrs
(i ) ferp=T SR (iv) e ferRma Swsire |
SRE
() fFrferiis SiRET (2t Sv-2! Sesire e a2 ©
Net profit after deductiong interst and tax 12,00,000
12% Debentures (Face value of which is) 30,00,000
Provision fofTaxation 2,40,000
(%) fersferiae S2iRet! (T SET bt Semire e 3 2 ©
Equity share capital 20,00,000
Debentures 8,00,000
Preference share capital 3,00,000

Loan 3,00,000 ©+9)

Part-C
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English Version

SAMPLE QUESTION
Subject :Accountancy(ACCT)
Class-Xll
Full Marks - 90
Time allowed :- 3.15 hours

1. Complete the sentence choosing the right alternative given below/Answer in short:- 1X7 7

a) Partnership business is formed on the basis of ..........
i) Agreement i) Trust iii) Partnershipct iv) All of the above

2)What is the ratio of dividing reveluation profit or loss for the old partners:-
i) Eavual ratio
ii) Old Protit or loss sharing ratio
iif) New Protit or loss sharing ratio
iv) Sacritiling ratio

3) What is Partnership deed?

4)A, B and C arequal partners in a firrdfter retirement of BA and C agreed to share profits and losses

in the ratio of 5:4The gaining ratio oA and C were-

() 1:1
(i) 1:2
(iii) 2:1
(iv) 5:4

5)The activities of a company is controlled by
(i) Indian Companct
(i) IndianAgreemenAct
(i) Indian Partnershipct
(iv) Indian Negotiable instrumeAtt

6) The liabilities of shareholders of a company are-
(1) Unlimited
(ii) No liabilities
(iit) Limited
(iv) None of the above

7)Debenture holders of a company are....
(i) Owners
(i) Debtors
(i) Creditors
(iv) None of these.

8)Show differences between Fixed capital Method and Fluctuating capital Method. 3
9)A and B are Partners in a firm sharing profits and loss in the ratio of 7:3. They admitCas a P=3hrtner for rd
share of future profits. Calculate sacrificing Ratio. 3
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10) India Ltd. is registred with an authorised capital of Rs. 50,00,000 divided into 50,000 shares of
Rs 100 each. The company issued 25000 shares to the public. The amount payable is as bellow:-
On application Rs. 20
OnAllotment Rs. 50
On 1stand Hé’lnal call Rs. 30
All calls made were duly received except 100 shares failpaytd st and Fial call money
These shares were forfeited.
Present theShare Capital’ in the Balan&haeet of the company as #ahedule V| Part | of
Copanies,Act.
11)Amal and Bimal are Patners in a firm sharing profits and loss in the ratio ®h&yadmit Kamal as a new
PartnerKamal will getl/4th share of Future profits. Kamal brought Rs. 6000 for premium for goodwiill.
Amal and Bimal agreed to share future profits and loss eaually 4
Pass Necessary Journal entries.
12) Moonlight Ltd. purchased a building from Ganegh for Rs. 28,80,000 and issued 15% debentur
of Rs. 100 each.
Pass necessary enteries in the books of Company
(i) Debentures are issued at.par
(i) Debentures are issued at 20% premilum.
(iif) Debentures are issued at 10% Discount.
13) S.K Ltd. forfeited 1000 shares of Rs 10 each farpayment of 1st call Rs.2 eaépplication of Rs 2 and
allotment of Rs 4 per share was paid. The company reissued all the forfeited shares of Rs. 5 per share, as
Rs 8 per share called up Pass necessary journal entries for forfeiture and re-issue.
14)Ram, Shyam and Jadu are partners in a firm. They decided to share profit and loss in capital ratio. Their capital
were Rs.4,00,000, 3,00,000 and 2,00,000 respectiMady took a joint life policy of Rs.2,70,000he
annual insurance prenium being charged as expenses. On 1.1.2015 Shyam died. On that date, the joint life
policy a/c shows a debit balance of Rs.90.000.
Pass Necessary Journal entries on Shydgadth. 4
15) P, QandR are Partnersdriirm sharing profits and loss in the ratio of 3:Ztiey made a profit dRs 36,002
on 31.12.2014. The partners agreed that-
(i) Interest shall be allowed @5%&Bn capital accounts which on 1.1.2014 stoodR%.20.000;
Q Rs. 16000 and R Rs.10,000
(i) Interest shall beharged on drawing@6%p.aP drewRs3000; Q Rs. 2000 and R Rs. 1000.
(iii) R is entitled to a salary of Rs 300MP
(iv) P is entitled commission @1% on gross sales which amounted to Rs. 90,000.
(v) On 1.7.2014 R advance a loan of Rs. 20,000 to the firm and is entitled to interest thereon.
Show profit and loss appropriation account for the year ended 31.12.2014. 5
16)Tata Co. Ltd dered to the public 20,000 equity share of ) each at a Preom of Rs. 10 per share.
The payment was to be made as bellows:-

On application Rs 20
On allotment Rs 40 (including premium)
On First call Rs 25
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On Second and
Final call Rs 25

Application were received 35000 shargplication 10.000 shares were refunded. Exces aplication
money were adjusted with allotment duBse directors. Made allotment and both c&@llsmoney duly

received except one shareholder holding 1200 shares failed to pay both calls.
You are required to make cash book and pass relevant entries in the journal.
17) Amar, Bishal and Chitra are partners sharing profits and losses in the proporﬁon g)f ,rd andY/6th
respectivelyThe firm balancesheet as on 31st Mach, 2014 was as follow:-

Liabilities Amount RS Assets Amount Rs
CapitalAccounts. Ed Factory Sheed E4 2,25,000
Amar- 2,00,000 p|ant & Machinen 1,75,000
Bishal- 1,50,000 Motor van- 40,000
Chitra- 1,25,000 4,75,000 | stock 1,25,000
Reserve Fund 60,000 Debtors.

Sundry Creditors 95000 N 80000 77,500
Bills Payable 25000 | Less-Provision- 2500 12,500
6,55,000 | Bank- 6,55,000

Bishal retires on 31.03.2014 subject to the following adjustment
() The goodwill of the firm valued at Rs.90,000
(if) Motor van depreciated by Rs.15%
(iii) Stock to be appreciated by 20%
(iv) Provision for doubtful debt to be Rs 1500.
(v) Unrecorded investment were sold for Rs 40,0000

Prepare profit and loggljustmen®d/c and Bishab Capita”A/C 6
OR

Who is called an executor? Prepare a list of factors to be taken into consideration in case of payment

to the executor of deceased partner 6

18) Mohan and Manju were partners in a firm sharing profit and loss in the ratioldfé&admifTarun
as a Partner on 1st January 2015/#ih share of profit on the date of admission the balancesheet of the
firm was as follows:-

Liabilities Amount Assets Amount
CapitalAccounts. < Machinecy g
Mohan- 300000 Furniture 2,60,000
Manju- 200000 Stock 1,80,000
Reserve Fund 5,00,000 Debtors 1,00,000

40,000 Bank
Bank loan an 88,000

. 1,20,000 60.000

Creditors 20,000 ,
6.80,000 6,80,000

Terms ofTaruns admission as follows:-
() Tarun will bring Rs. 2,50,000 as capital.
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(i) He also paid Rs.50,000 as premium for goodwill.

(iii) Furniture is to be appreciated by 60,000 and value of stock to be reduceed by 20%
(iv) Interest on Bank loan @ 10%aRor 1 year is to be paid.

(v) Provide provision for bad debt @ 5% on debtors.
Prepare partners capifatcount and new balance sheet of the firm. 6
OR
What is Memorandum Revaliatid.wcountaVhy and when opened this account?
19)ABC Co. Ltd issued 15000 shares @ Rs 10 each at 20% premium to theThétimount was payable as

follows:-
OnApplication Rs 3
OnAllotment Rs 6 (including Premium)

On Fist and final call Rs 3
The Board of Directors duly made allotment and call and all sums were duly received by the company except
the following :-
() A shareholder holding 400 shares failed toAlytment and call Money
(i) Another shareholder holding 200 shares failed to pay call Money
The company forfeited all of these shares and re-issued @ Rs 8 per share as fully paid up.
Show necessary journal entries in the books of the company 6

OR
A Ltd issued 15000 shares @ Rs.100 each at a discount ofd.0¥eFRamount was payable as follows:-
OnApplications Rs 20
OnAllotment Rs 40 (excluding discount)
On Firstand Finatall Rs 30
A Ltd. received 14000 application and alloted all of application. The company duly made first and final
call and recevied money in time except one shareholder holding 500 share failed to pay First and Final
call moneyThe company forfeited these shares and reissued @ Rs 80 per share as fully paid up.
show necessary journal entries in the books of company

Part -B
20) Complete the sentence choosing the right alternative given below :-
What s ratio?
(i) Set of numbergii) Set of three numbers.
(iii) Two or more number@v) none of these.
21) Why cash flow statment is Prepared? 3
22)a) Prepare a comprative income statment of xyz co Ltd for the year 2013 and 2014 from the folloving-
2013 2014
4 4
Gross Sales 1,20,200 1,35,800
Sales Return 20,200 5,800
Cost of goods sold 80,000 84,000
Operating Expenses 12,000 9000
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Calculate

IncomeTax

l. Equities and Liabilities

A. Shareholdis Fund

Equity share capital-
12% Pref. share capital

B. Reserve & Surplus:

General Reserve-
Profit & lossA/C

C. Current liabilities

Creditors

Il. Assets :
(a) FixedAssets :

Goodwill-

Building-

Plant-

(b) CurrenAssets :
Debtors-

Stock-

Cash-

50%
23) Following Balance sheetAfartala Power Ltd as at 31.3.2015

31.3.2014
<
1,50,000
75,000

20,000
15000

31.3.2014

36,000
80,000
40,000

1,19,000
10,000
12,500
2.97.500

50%

31.3.2015
<

2,00000

50,000

35,000
24,000
<
49,500
3.58,500

31.3.2015

20,000
60,000
1,00,000

1,54,000

15,000
9.500
3.58.500

Prepare a cash flow statement from line above information.

(24) From the follwing balancesheet of Fortune Ltd for the year ended on 31st March 2014.

Liabilities Amount Assets Amount
. . T
anylty share capital 8,00,000 Goodwil 4 83, 000
f;l(;:tl{\i/:othegSaegn;eLoan iggggg FixedAssets 11,20,000
. g Stock 2,40,000
Z::ig\i;drz?trs 3,20,000 Investment (Short term 80,000
- | 80.000 Cash 2,40,000
Provision fofTaxation 1,60,000
Profit &lossA/C 2,40,000
21,60,000 21,60,000
() Current Ratio (i1) Liquid Ratio
(ii) Proprietary Ratio (iv) Debt Eqity Ratio
OR
(a) Calculate Interest coverage Ratio from the following information
Net profit after deduct interst and tax 12,00,000
12% Debentures (Face volue of which is) 30,00,000
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Provision fofTaxation 2,40,000
(b) Calculate Capital Gearing Ratio from the following information

Equity share capital 20,00,000

Debentures 8,00,000

Preference share capital 3,00,000

Loan 3,00,000
Part-C

25) Select the correct answer/Explain briefly
a) What is the intersection of rows and columns in the MS Excel called?
i) Grind Line ii) Cell
iii) Cell Pointer iv) None of these.
b) Write two advantage of DBMS.
26) What are the errors generally seen in the spread sheet?
Explain these errors briefly
27) How many object are there in M8cess data base? Discuss these object briefly
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